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T|X - Md| =7 g 2

TRt ST Tl

feaert A& god a1 81 38 R GG godi w1 HE G96 T vedl go fm
et stafa faaRor &1 off mfeaert T fovan 1 Gl €1 7@ Tl AR ® oI W
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39 el § ¥ AN el w1 s foan s 2l
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TR ST & dH-die 1 A foed €
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FI fen S 7, S WAd ¥ eSS 9|
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fagoraur arferemr

5 7 10 12 15 18
I 1
i 1 1
il 1 1
v 1 1 1
\% 1 1
VI 1 1
H_A 1 3 6 3 1 0

sga® = 10 a9

8.5.3 IT@fed (Had) Ut W Sgeesh et U
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T : @ Ak g 12 ®, S 35-40 ot ot T € TS F Sgerk H
fi—f
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-quLl=35,f1=12,f0=8,f2=7,i=5
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—X
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X1
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g free & eriere fau U €| S WA, "t iR e feRtfery)
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